
qm=;++ ljj/0f n]vf k/LIf0f gePsf] -?=nfvdf_

 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                4,622,589.22 
!=! r'Qmf k"FhL                    394,491.77 
!=@ hu]8f tyf sf]if                     168,367.51 
!=# hLjg aLdf sf]if                 4,057,880.34 
!=$ dxf–ljkQL hu]8f sf]if                       1,849.60 
!=% ltg{ afFsL lb3{sflng C0f tyf ;fk6L                               -   
@= pkof]u -@=! b]lv @=%_                4,622,589.22 
@=! l:y/ ;DklQ -v'b_                      25,872.43 
@=@ lb3{sflng nufgL tyf shf{                  2,853,912.80 
@=# v'b rfn' ;DklQ -# – $_                 1,742,767.60 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{                            36.39 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg                               -   
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                2,044,537.01 
#=! gub tyf a}+s df}Hbft                     45,422.24 
#=@ cNksflng nufgL tyf shf{                  1,654,923.87 
#=# cGo ;DklQ                   344,190.89 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                   301,769.40 
$=! rfn' bfloTj                   181,909.84 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                      24,630.56 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                      42,991.16 
$=$ cGo Aoj:yf                      52,237.85 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                    18,933.08 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                       6,784.87 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]                               -   
!=# nufgL shf{ tyf cGoaf6 cfo                       11,367.56 
!=$ Aoj:yf lkmtf{                         764.99 
!=% cGo cfDbfgL                            15.66 
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                     8,094.68 
 @=!  Aoj:yfkg vr{                        2,616.58 
 @=@  z]o/ ;DalGw vr{                          118.96 
 @=#  cGo vr{                              3.33 
 @=$  gf]S;fgLsf] nflu Aoj:yf                       3,507.28 
 @=%  sd{rf/L cfjf; Aoj:Yff                               -   
 @=^  sd{rf/L af]g; Aoj:Yff                        1,237.27 
 @=&  cfos/                          611.27 
 @=*  hLjg aLdf sf]ifdf ;f/]sf]                               -   

 v'b gfkmf÷gf]S;fg -! – @=_                    10,838.39 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                  545,275.46 
 !=!  aLdfz'Ns -v'b_                     372,939.56 
 !=@  k'gaL{df sldzg cfo                         519.74 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                     77,970.04 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                     14,379.80 
 !=%  cGo k|ToIf cfo                       2,743.90 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                     47,429.30 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                      29,293.12 
 @  Aoo -@=! – @=!) ;Dd_                  288,855.97 
 @=!  bfjL e'QmfgL -v'b_                    145,197.83 
 @=@  clestf{ sldzg                    40,004.02 
 @=#  :jf:Yo kl/If0f z'Ns                          307.39 
 @=$  k'gaL{df sldzg vr{                               -   
 @=%  ;]jf z'Ns -v'b_                        3,735.63 
@=^ cGo k|ToIf vr{                            8.85 
@=& Aoj:yfkg vr{                      23,549.18 
@=* cfos/                       8,433.19 
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                      42,991.16 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     24,628.74 
# art -!_ - -@_                  256,419.49 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                    249,634.68 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                       6,784.87 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= nfvdf_ -o; jif{sf]_                        378,971 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn ;Ddsf]_                      8,461,676 
#= 3f]lift d'gfkmf -af]g;_ sf] b/

$= cGtl/d d'gfkmf -af]g;_ sf] b/

%= s'n bfjL e'QmfgL /sd -?=nfvdf_                         142,533 
^= s'n bfjL e'QmfgL ;+Vofdf                          56,640 
&= e'QmfgL x'g afFsL bfjL /sd -?=nfvdf_                          41,076 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                            6,586 
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